
1-5 80 60 40 20 0

1)

A. B. C. D.

2)

A. B. C. D.

3)

A. B. C. D.

4)

A. B. C. D.

5)

A. B. C. D.

1. A

2. D

3. C

4. B

5. B

     

Calcola quale lettera completa correttamente la sequenza.

Completa la sequenza

Matematica www.CommonCoreSheets.it

Nome:

Risposte

6



1-5 80 60 40 20 0

1)

A. B. C. D.

2)

A. B. C. D.

3)

A. B. C. D.

4)

A. B. C. D.

5)

A. B. C. D.

1. A

2. D

3. C

4. B

5. B

     

Calcola quale lettera completa correttamente la sequenza.

Completa la sequenza

Matematica www.CommonCoreSheets.it

Nome:

Risposte

6

Soluzioni


	Worksheet
	Soluzioni

